Problem 11. Breadth-First Graph Searching. 
Given is a graph represented by a coincidence matrix with distances. It is represented as a LISP list, for instance ( (A B 3) (A C 4) (B D 7) (A D 7) ...). Write a breadth-first program, which is called such as BREADTH (A D) for nodes A and D, to search the shortest path between any two of its nodes given as the input data. Print the path as a sequence of nodes and the distances reached in each node. If there are many such paths, print each of them. 
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* Lisp data list

(setf nodes (list '(a h 3) '(a b 4) '(b c 2) '(b f 3) '(c i 6) '(i e 4) '(e d 3) '(c d 4) '(d g 4) '(e g 7) '(f g 6) '(g j 1) '(f m 5) '(m j 2) '(j k 4) '(g k 3) '(e l 2) '(l k 3)  ))
;(BREATH 'h 'k)

;(A)

;(A)

;(B H)*
;(B)

;(F C A) *
;(F C)

;(M G B)*
;(C M G)

;(D I B)*
;(M G D I)
;(J F)*
;(G D I J)
;(K J F E D)*
;(D I J K J E D)
;(G C E)*
;(I J K J E D G E)
;(E C)*
;(J K J E D G E E)
;(K M G)*
;(K J E D G E E K)
;"I got it!!"

;Bye.
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